1.- Descompon los siguientes niimeros en posicion y valor

VALOR:

8342 POSICION:

VALOR: 70 000 + 5 000 + 200+ 80 +9

POSICION:7DM+5UM+2C+8D+9U

VALOR:

4254 POSICION:

VALOR:

POSICION:6 UM +5C 2 U

2.- Escribe el nimero que corresponde a cada descomposicion.
a) 50000+ 6000+ 200+ 40+ 3 =..ccccrevreerurerrerannn
b) 5000+ 200 + 9 =..cecverrrrcenrrerrennns
c) 90000 +3 000+ 700+ 60+ 5 =....c.ccererrrrirsurenns
d) 2000420042042 =i
€) 30000 + 400 + 20 =....cococremercrerrenne
fISUM+4C+3D+9U= e

B)AUM 45D+ 7 U= coooireeeseeeereeeess s

o
)2DM+9UM+8C+3D+2 U= oreeerrrrrrreeocrreone

3.- Completacon >, <, =

23.667 23.567 328 28
75.345 75.245 5.158 158
864.345 894.345 11.001 1.001
223.473 323.473 9.189 989
580.345 680.345 10.981 1.981




